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CARTESIAN SYSTEM OF RECTANGULAR CO-ORDINATES

AND STRAIGHT LINES

Multiple Choice Questions Level I

1. The inclination of the line  with the positive direction of

x-axis is :

A. 

B. 

C. 

x − y + 3 = 0

45∘

135∘

−45∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xOa5Y2t51SZS


D. 

Answer: A

Watch Video Solution

−135∘

2. The two lines  are perpendicular if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax + by = c and a' x + b' y = c'

aa' + bb' = 0

ab' = ba'

ab + a' b' = 0

ab' + ba' = 0

https://dl.doubtnut.com/l/_xOa5Y2t51SZS
https://dl.doubtnut.com/l/_Ee5eMV8u1Qy7


3. The equation of the line passing through (1, 2) and perpendicular to

 is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y + 7 = 0

y − x + 1 = 0

y − x − 1 = 0

y − x + 2 = 0

y − x − 2 = 0

4. The distance of the point  from the line  is

A. 13

B. 

C. 

D. None of these

P (1, − 3) 2y − 3x = 4

√13
7
13

√13

https://dl.doubtnut.com/l/_dUbFrhKZmN9O
https://dl.doubtnut.com/l/_HwCqcptuF1Ro


Answer: C

Watch Video Solution

5. The coordinates of the foot of the perpendicular from the point (2,3)

on the line 
are
 
b. 
c. 
d. 

A. (-6, 5)

B. (5, 6)

C. (-5, 6)

D. (6, 5)

Answer: B

Watch Video Solution

x + y − 11 = 0 ( − 6, 5) (5, 6) ( − 5, 6) (6, 5)

6. The intercept cut off from Y-axis is twice that from X-axis by the line

and line passes through  then its equation is(1, 2),

https://dl.doubtnut.com/l/_HwCqcptuF1Ro
https://dl.doubtnut.com/l/_RRPKdi2icoki
https://dl.doubtnut.com/l/_Pn3kimgw8BEG


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + y = 4

2x + y + 4 = 0

2x − y = 4

2x − y + 4 = 0

7. A straight line through  is such that its intercept between the

axes is bisected at  its equation :

A. 

B. 

C. 

D. 

Answer: D

P (1, 2)

P

x + 2y = 5

x − y + 1 = 0

x + y − 3 = 0

2x + y − 4 = 0

https://dl.doubtnut.com/l/_Pn3kimgw8BEG
https://dl.doubtnut.com/l/_FKJRyjuKXKBm


Watch Video Solution

8. Slope of a line which cuts off intercepts of equal lengths on the axes is

A. 

B. 0

C. 2

D. 

Answer: A

Watch Video Solution

−1

√3

9. A point moves such teat its distance from the point 
is half that of

its distance from the line 
find its locus.

A. 

B. 

(4, 0)

x = 16,

3x2 + 4y2 = 192

4x2 + 3y2 = 192

https://dl.doubtnut.com/l/_FKJRyjuKXKBm
https://dl.doubtnut.com/l/_1drlnTX6x5pW
https://dl.doubtnut.com/l/_tBC13vEmYiTH


C. 

D. None of these

Answer: A

Watch Video Solution

x2 + y2 = 192

10. A line cutting off intercept  from the axis and the tangent at

angle to the axis is , its equation is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

−3 Y −

X −
3

5

5y − 3x + 15 = 0

3y − 5x + 15 = 0

5y − 3x − 15 = 0

https://dl.doubtnut.com/l/_tBC13vEmYiTH
https://dl.doubtnut.com/l/_r7mXU40XwcAJ
https://dl.doubtnut.com/l/_KUtYMfBX5Hg2


11. Find the tangent of the angel between the lines whose intercepts n

the
axes are respectively 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

a, − badnb, − a.

a2 − b2

ab

b2 − a2

2

b2 − a2

2ab

12. If the line  passes through the points a  and 

 then 

A. (1, 1)

B. (-1, 1)

C. (1, -1)

+ = 1
x

a

y

b
(2, − 3)

(4, − 5), (a, b) =

https://dl.doubtnut.com/l/_KUtYMfBX5Hg2
https://dl.doubtnut.com/l/_h21WJuUYWmb9


D. (-1, -1)

Answer: D

Watch Video Solution

13. The distance of the point of intersection of the lines 

and  from the line  is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

2x − 3y + 5 = 0

3x + 4y = 0 5x − 2y = 0

130

17√29

13

17√29

130

7

https://dl.doubtnut.com/l/_h21WJuUYWmb9
https://dl.doubtnut.com/l/_D2H0bOAi753D


14. Show that the equations of eth straight lines passing through the

point
 
 and inclined at 
 to the line 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(3, − 2) 600

√3x + y = 1arey + 2 = 0andy − √3x + 2 + 3√3 = 0.

y + 2 = 0, √3x − y − 2 − 3√3 = 0

x − 2 = 0, √3x − y + 2 + 3√3 = 0

√3x − y − 2 − 3√3 = 0

15. The distance between the lines  and  is

A. 

B. 

C. 

y = mx + c1 y = mx + c2

c1 − c2

√m2 + 1
|c1 − c2|

√1 + m2

c2 − c1

√1 + m2

https://dl.doubtnut.com/l/_ju8crXb9ptmQ
https://dl.doubtnut.com/l/_G1oJRoh9ATek


D. 0

Answer: B

Watch Video Solution

16. If the co-ordinates of the middle point of the portion of the line

intercepted between the co-ordinate axes is (3, 2), then the equation of

the line will be:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + 3y = 12

3x + 2y = 12

4x − 3y = 6

5x − 2y = 10

https://dl.doubtnut.com/l/_G1oJRoh9ATek
https://dl.doubtnut.com/l/_CX89JugzWpYj
https://dl.doubtnut.com/l/_dnV1aGsOOixl


17. Equation of the line passing through (1, 2) and parallel to the line

 is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 3x − 1

y + 2 = x + 1

y + 2 = 3(x + 1)

y − 2 = 3(x − 1)

y − 2 = x − 1

18. Equation of diagonals of the square formed by the lines: 

 are:

A. 

B. 

C. 

x = 0, y = 0, x = 1 and y = 1

y = x, y + x = 1

y = x, x + y = 2

2y = x, y + x = 1/3

https://dl.doubtnut.com/l/_dnV1aGsOOixl
https://dl.doubtnut.com/l/_wp5ZImESK2BG


D. 

Answer: A

Watch Video Solution

y = 2x, y + 2x = 1

19. For specifying a straight line, how many geometrical parameters

should be known?

A. 1

B. 2

C. 4

D. 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wp5ZImESK2BG
https://dl.doubtnut.com/l/_zQzGPXIq1P9b


20. The co-ordinates of the foot of perpendicular from the point (2, 3) on

the line  are given by:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = 3x + 4

( , )
37
10

−1

10

( , )
−1

10
37
10

( , − 10)
10

37

( , )
2

3

−1

3

21. The ratio in which the line  divides the distance

between the lines  is :

A. 

B. 

C. 

3x + 4y + 2 = 0

3x + 4y + 5 = 0 and 3x + 4y − 5 = 0

1: 2

3: 7

2: 3

https://dl.doubtnut.com/l/_Qz5IOxI8FzOb
https://dl.doubtnut.com/l/_zCZjoGQEgkk1


D. 

Answer: B

Watch Video Solution

2: 5

22. One vertex of the equilateral triangle with centroid at the origin and

one side as  is :

A. (-1, -1)

B. (2, 2)

C. (-2, -2)

D. (2, -2)

Answer: B

Watch Video Solution

x + y − 2 = 0

https://dl.doubtnut.com/l/_zCZjoGQEgkk1
https://dl.doubtnut.com/l/_SFyQltyDdd2f


23. Given the four lines with equations

, then:

A. They are all concurrent

B. They are the sides of a quadrilateral

C. They are all parallel

D. None of these

Answer: D

Watch Video Solution

x + 2y − 3 = 0, 3x + 4y − 7 = 0, 2x + 3y − 4 = 0 and 4x + 5y − 6 = 0

24. The point (4, 1) undergoes the following three transformations

successively: 

(i) reflection about the line y = x (ii) translation through a distance of 2

units along the positive direction of x-axis (ii) rotation through an angle

https://dl.doubtnut.com/l/_HVhAT9nAkxtG
https://dl.doubtnut.com/l/_l9s2JbFNd0ru


of  about the origin in the counter-clockwise direction. The final

position of the point is given by:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

4

( , )
1

√2

7

√2

( − √2, 7√2)

( − , )
1

√2

7

√2

(√2, 7√2)

25. The point (4, 1) undergoes the following transformations: 

(i) reflection about the line y = x (ii) translation through a distance of 2

units along the positive x-axis. Then the final co-ordinates of the point are

:

A. (4, 3)

B. (3, 4)

https://dl.doubtnut.com/l/_l9s2JbFNd0ru
https://dl.doubtnut.com/l/_M64QdsfXkoTJ


C. (1, 4)

D. 

Answer: B

Watch Video Solution

(7/2, 7/2)

26. If a, b, c are in A. P., then st. line  will always pass

through a fixed point whose co-ordinates are:

A. (1, -2)

B. (-1, 2)

C. (1, 2)

D. (-1, -2)

Answer: A

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_M64QdsfXkoTJ
https://dl.doubtnut.com/l/_5FuGs8SVBIGv
https://dl.doubtnut.com/l/_PD2YM7lpOWWS


27. The vertices of a triangle are (0, 0), (3, 0) and (0, 4). Its orthocentre is

at:

A. (0, 0)

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(1, )
4
3

( , 2)
3

2

28. One of the equations of the lines passing through the point (3, -2) and

inclined at  to the line  is :

A. 

B. 

C. 

60∘ √3x + y = 1

y + 2 = 0

x + 2 = 0

x + y = 2

https://dl.doubtnut.com/l/_PD2YM7lpOWWS
https://dl.doubtnut.com/l/_Lh2CQlaayIQE


D. 

Answer: A

Watch Video Solution

x − y = √3

29. If three lines  are

concurrent, then a is equal to :

A. 2

B. 3

C. 

D. 

Answer: D

Watch Video Solution

3x − y = 2, 5x + ay = 3 and 2x + y = 3

−1

−2

https://dl.doubtnut.com/l/_Lh2CQlaayIQE
https://dl.doubtnut.com/l/_341q0hftf0Nc


30. The equations  represent the

same st. line if and only if :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax + by + c = 0 and dx + ey + f = 0

a = d, b = e, c = f

= =
a

d

b

e

c

f

=
a

d

b

e

c = f

31. If p and p' be perpendiculars from the origin upon the straight lines

, then the value of

the expression  is :

A. 

B. 

x secθ + ycosecθ = a and x cos θ − y sin θ = a cos 2θ

4p2 + p'
2

a2

3a2

https://dl.doubtnut.com/l/_vDIBCms88fLj
https://dl.doubtnut.com/l/_VpMRSIMK2u0y


C. 

D. 

Answer: A

Watch Video Solution

2a2

4a2

32. The sum of squares of intercepts on the axes cut off by the tangents

to the curve  at  is 2. Thus a has the

value:

A. 1

B. 2

C. 4

D. 8

Answer: C

Watch Video Solution

x2 / 3 + y2 / 3 = a2 / 3(a > 0) ( , )
a

8
a

8

https://dl.doubtnut.com/l/_VpMRSIMK2u0y
https://dl.doubtnut.com/l/_zFe7I3bJsQEq


33. A line passes through (2,2) and is perpendicular to the line

 Its y - intercept is _______

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

3x + y = 3

1

3

2

3

4
3

34. For the triangle whose sides are

, the co-ordinates of the

incentre are:

A. 

x + y − 6 = 0, 7x + y − 6 = 0 and x − 7y = 6

( , )
12

5

6

5

https://dl.doubtnut.com/l/_zFe7I3bJsQEq
https://dl.doubtnut.com/l/_8Q0QO71Wd0xH
https://dl.doubtnut.com/l/_sFdb4AQ3bUKh


B. 

C. 

D. None of these

Answer: A

View Text Solution

( , − )
3

4

1

7

( − 1, 5)

35. The equation of a line through the point (1, 2) whose distance from

the point (3, 1) has the greatest possible value is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x

y = 2x

y = − 2x

y = − x

https://dl.doubtnut.com/l/_sFdb4AQ3bUKh
https://dl.doubtnut.com/l/_S5iSeu212NrZ


36. If the lines  and 

are concurrent, then a, b, c are in:

A. A.P.

B. G.P.

C. H.P.

D. None of these

Answer: C

Watch Video Solution

x + 2ay + a = 0, x + 3by + b = 0 x + 4cy + c = 0

37. If the algebraic sum of the perpendicular distances from the points (2,

0), (0, 2) and (1, 1) to a variable st. line be zero, then the line passes thro'

the point :

A. (-1, 1)

https://dl.doubtnut.com/l/_S5iSeu212NrZ
https://dl.doubtnut.com/l/_QFqbq6rdB44D
https://dl.doubtnut.com/l/_d6P6rPFNIH54


B. (1, 1)

C. (1, -1)

D. (-1, -1)

Answer: B

Watch Video Solution

38. A point equidistant from the lines

 is :

A. (1, -1)

B. (1, 1)

C. (0, 0)

D. (0, 1)

Answer: C

Watch Video Solution

4x + 3y + 10 = 0, 5x − 12y + 26 = 0 and 7x + 24y − 50 = 0

https://dl.doubtnut.com/l/_d6P6rPFNIH54
https://dl.doubtnut.com/l/_u85HzzXeiEhr


39. If  are distinct, then the points: 

 are colinear if :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t1, t2 and t3

(t1, 2at1, at3
1), (t2, 2at2 + at3

2) and (t3, 2at3 + at3
3)

t1 + t2 + t3 = 0

t1t2t3 = 1

t1 + t2 + t3 = 1

t1 + t2 + t3 = t1t2t3

40. The locus of the mid-point of the portion of the line

, which is intercepted between the axes is :

A. 

B. 

x cosα + y sinα = p

p2(x2 + y2) = 4xy

p(x2 + y2) = 4x2y2

https://dl.doubtnut.com/l/_u85HzzXeiEhr
https://dl.doubtnut.com/l/_VqNMqebRyb42
https://dl.doubtnut.com/l/_NgJRHtBuKh2I


C. 

D. 

Answer: D

Watch Video Solution

p2(x + y) = x2y2

p2(x2 + y2) = 4x2y2

41. The centroid of a triangle formed by the points (0, 0),

 lies on the line . Then  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(cos θ, sin θ) and (sin θ, − cos θ) y = 2x θ

tan− 1 2

tan− 1 1

3

tan− 1 1

2

tan− 1( − 3)

https://dl.doubtnut.com/l/_NgJRHtBuKh2I
https://dl.doubtnut.com/l/_4RWaGCyu9dmR
https://dl.doubtnut.com/l/_l6p81sVAccgq


42. The co-ordinates of the image of the origin O. w.r.t. st. line

 are :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y + 1 = 0

( , )
−1

2

−1

2

( − 2, − 2)

(1, 1)

( − 1, − 1)

43. A variable line intersects the co-ordinate axes at A and B and passes

through a fixed point (a, b), then the locus of the vertex C of the rectangle

OACB where O is the origin is :

A. 

B. 

+ = 1
x

a

y

b

+ = 1
a

x

b

y

https://dl.doubtnut.com/l/_l6p81sVAccgq
https://dl.doubtnut.com/l/_E1A60L5D09Zf


C. 

D. .

Answer: B

Watch Video Solution

x + y = +
1

a

1

b

ax + by = 1

44. The reflection of the point (4, -13) in the line  is :

A. (-1, -14)

B. (3, 4)

C. (0, 0)

D. (1, 2)

Answer: A

Watch Video Solution

5x + y + 6 = 0

https://dl.doubtnut.com/l/_E1A60L5D09Zf
https://dl.doubtnut.com/l/_9NrapWCyqUu6


45. A line passing through P(4, 2) meets the x and y-axis at A and B

respectively. If O is the origin, then locus of the centre of the circumcircle

of  is :

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

ΔOAB

x− 1 + y− 1 = 2

2x− 1 + y− 1 = 1

x− 1 + 2y− 1 = 1

2x− 1 + 2y− 1 = 1

46. If the point (a, a) falls between the lines , then :

A. 

B. 

C. 

|x + y| = 2

|a| = 2

|a| = 1

|a| < 1

https://dl.doubtnut.com/l/_ny2ynFFLQIs2
https://dl.doubtnut.com/l/_ShwdjuVNufB4


D. 

Answer: C

Watch Video Solution

|a| <
1

2

47. ABC is an equilateral triangle such that the vertices B and C lie on two

parallel lines at a distance 6. If A lies between the parallel lines at a

distance 4 from one of them, then the length of a side of the equilateral

triangle is :

A. 8

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

√
88

3

4√7

√3

https://dl.doubtnut.com/l/_ShwdjuVNufB4
https://dl.doubtnut.com/l/_PmG09uLeqlc6


48. The limiting position of the point of intersection of the lines

 as c tends to 1 is :

A. (4, -5)

B. (-5, 4)

C. (5, -4)

D. (-4, 5)

Answer: B

Watch Video Solution

3x + 4y = 1 and (1 + c)x + 3c2y = 2

49. Let the vertex of an equilateral triangle be the origin and the side

opposite to it have the equaiton . Then the co-ordinates of the

orthocentre of the triangle are:

A. 

B. 

x + y = 1

( , )
1

3

1

3

( , )
2

3

2

3

https://dl.doubtnut.com/l/_efGiMEONofT8
https://dl.doubtnut.com/l/_sp9zzrTbMScg


C. 

D. None of these

Answer: A

Watch Video Solution

( , )
√2

3

√2

3

50. If the lines  and 

are concurrent, then a, b, c are in :

A. A.P.

B. H.P.

C. G.P.

D. None of these

Answer: B

Watch Video Solution

x + 2ay + a = 0, x + 3by + b = 0 x + 4cy + c = 0

https://dl.doubtnut.com/l/_sp9zzrTbMScg
https://dl.doubtnut.com/l/_hfpebQdnM7fo
https://dl.doubtnut.com/l/_H0neReXw0rBr


51. Area enclosed by  is :

A. 4 sq. units

B. 6 sq. units

C. 12 sq. units

D. 16 sq. units

Answer: C

Watch Video Solution

2|x| + 3|y| ≤ 6

52. If a, b, c are in A.P., a, x, b are in G.P., and b, y, c are in G.P., then (x, y) lies

on :

A. a st. line

B. a circle

C. a parabola

D. an ellipse

https://dl.doubtnut.com/l/_H0neReXw0rBr
https://dl.doubtnut.com/l/_IPQT2SOxNX6p


Answer: B

Watch Video Solution

53. Area bounded by the curves : 

 is :

A. 1

B. 2

C. 4

D. 

Answer: B

Watch Video Solution

y = |x| − 1 and y = − |x| + 1

2√2

54. Distance between the lines  and 

 is 2, then the value of k is :

5x + 12y − 1 = 0

10x + 24y + k = 0

https://dl.doubtnut.com/l/_IPQT2SOxNX6p
https://dl.doubtnut.com/l/_guQx1KaIlDvp
https://dl.doubtnut.com/l/_kZRap059UtIE


A. 

B. 50

C. 

D. 53

Answer: C

Watch Video Solution

−54

−54, 50

55. Foot of perpendicular drawn from (0, 5) on the line 

is :

A. (3, 2)

B. (3, 1)

C. (1, 3)

D. (2, 3)

Answer: B

3x − 4y − 5 = 0

https://dl.doubtnut.com/l/_kZRap059UtIE
https://dl.doubtnut.com/l/_3GbBvrvfETZF


Watch Video Solution

56. A line passes through (2,2) and is perpendicular to the line

 Its y - intercept is _______

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + y = 3

1

3

2

3

4
3

57. The points (-1, 1) and (1, -1) are symmetrical about the line :

A. 

B. 

y = x

y + x = 0

https://dl.doubtnut.com/l/_3GbBvrvfETZF
https://dl.doubtnut.com/l/_XDfb0jG4y8XG
https://dl.doubtnut.com/l/_tS3h63vjninS


C. 

D. None of these

Answer: A

Watch Video Solution

x + y = 1

58. Let PS be the median of the triangle with vertices P(2, 2), Q(6, -1) and

R(7, 3). The equation of the line passing through (1, -1) and parallel to PS is

:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x − 9y − 7 = 0

2x − 9y − 11 = 0

2x + 9y − 11 = 0

2x + 9y + 7 = 0

https://dl.doubtnut.com/l/_tS3h63vjninS
https://dl.doubtnut.com/l/_SPsMPRPyprLi


59. The number of integer values of m for which the x-co-ordinates of the

point of intersection of the lines  is also

an integer is :

A. 2

B. 0

C. 4

D. 1

Answer: A

Watch Video Solution

3x + 4y = 9 and y = mx + 1

60. Area of the parallelogram formed by the lines

 equals :

A. 

y = mx, y = mx + 1, y = nx and y = nx + 1

|m + n|

(m − n)2

https://dl.doubtnut.com/l/_SPsMPRPyprLi
https://dl.doubtnut.com/l/_ssNSYmogr0dj
https://dl.doubtnut.com/l/_DWbJWAUSM2mu


B. 

C. 

D. 

Answer: D

Watch Video Solution

2

|m + n|

1

(m + n)

1

|m − n|

61. A triangle with vertices (4, 0), (-1, -1), (3, 5) is :

A. isosceles and right-angled

B. isosceles but not right-angled

C. right-angled but not isosceles

D. neither right-angled nor isosceles.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DWbJWAUSM2mu
https://dl.doubtnut.com/l/_GqBYznonhOYV
https://dl.doubtnut.com/l/_ziXDbjb4Lf5R


62. A st. line through the point (2, 2) intersects the lines

 at the points A and B. The equation to

the line AB so that the triangle OAB is equilateral is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

√3x + y = 0 and √3x − y = 0

x − 2 = 0

y − 2 = 0

x + y − 4 = 0

63. The incentre of the triangle with vertices  is

:

A. 

B. 

(1, √3), (0, 0) and (2, 0)

(1, )
√3

2

( , )
2

3

1

√3

https://dl.doubtnut.com/l/_ziXDbjb4Lf5R
https://dl.doubtnut.com/l/_YIUzbqj9sOk5


C. 

D. 

Answer: D

Watch Video Solution

( , )
2

3

√3

2

(1, )
1

√3

64. Three straight lines  and 

 :

A. form a triangle

B. are only concurrent

C. are concurrent with one line bisecting the angle between the other

two

D. None of these

Answer: C

Watch Video Solution

2x + 11y − 5 = 0, 4x − 3y − 2 = 0

24x + 7y − 20 = 0

https://dl.doubtnut.com/l/_YIUzbqj9sOk5
https://dl.doubtnut.com/l/_6Cpkx9aewrJO


65. A straight line through the origin O meets the parallel lines

 at points P and Q respectively. Then

the point O divides the segment PQ in the ratio :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x + 2y = 9 and 2x + y + 6 = 0

1: 2

3: 4

2: 1

4: 3

66. Let P(-1, 0), Q(0, 0) and  be three points. Then the equation

of the bisector of the angle PQR is :

A. 

R(3, 3√3)

x + y = 0
√3

2

https://dl.doubtnut.com/l/_6Cpkx9aewrJO
https://dl.doubtnut.com/l/_41ZFeLbPffdp
https://dl.doubtnut.com/l/_BZxXMKmWf8uH


B. 

C. 

D. 

Answer: C

Watch Video Solution

x + √3y = 0

√3x + y = 0

x + y = 0
√3

2

67. Let  be a fixed angle. If 

, then Q is

obtained from P by:

A. clockwise rotation around origin through an angle 

B. anticlockwise rotation around origin through an angle 

C. reflection in the line through origin with slope 

D. reflection in the line through origin with slope .

Answer: D

0 < α < π/4

P = (cos θ, sin θ) and Q = (cos(α − θ), sin(α − θ))

α

α

tanα

tan
α

2

https://dl.doubtnut.com/l/_BZxXMKmWf8uH
https://dl.doubtnut.com/l/_1Sp0fttqqStc


Watch Video Solution

68. Orthocentre of triangle whose vertices are (0, 0), (3, 4), (4, 0) is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3, )
7
3

(3, )
5

4

(5, − 2)

(3, )
3

4

69.  and  are the vertices of a triangle  If the

centroid of this triangle moves on the line  then the locus

of the vertex  is the line

A. 

A(2, − 3) B( − 2, 1) ABC.

2x + 3y = 1,

C

2x + 3y = 9

https://dl.doubtnut.com/l/_1Sp0fttqqStc
https://dl.doubtnut.com/l/_o8QNLsmjDlF0
https://dl.doubtnut.com/l/_28qeHv1wy2uA


B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − 3y = 7

3x + 2y = 5

3x − 2y = 3

70. The equation of the straight line passing through the point (4, 3) and

making intercepts on the co-ordinate axes whose sum is -1 is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = − 1 and + = − 1
x

2

y

3
x

−2

y

1

− = − 1 and + = − 1
x

2

y

3
x

−2

y

1

+ = 1 and + = 1
x

2

y

3
x

2

y

1

− = 1 and + = 1
x

2

y

3
x

−2

y

1

https://dl.doubtnut.com/l/_28qeHv1wy2uA
https://dl.doubtnut.com/l/_Lw8xz6ely6Kg


Multiple Choice Questions Level Ii

1. Area of the triangle with vertices (a, b)  and , where 

 are in GP. with common ratio r and  are in GP. with

common ratio s is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x1, y1) (x2, y2)

a, x1, x2 b, y1, y2

ab(r − 1)(s − 1)(s − r)

ab(r + 1)(s + 1)(s − r)
1

2

ab(r − 1)(s − 1)(s − r)
1

2

ab(r + 1)(s + 1)(r − s)

2. The medians AD and BE of a triangle with vertices A (0, b), B(0, 0) and

C(a, 0) are perpendicular ot each other if :

https://dl.doubtnut.com/l/_Lw8xz6ely6Kg
https://dl.doubtnut.com/l/_OBz8p7B2QKjx
https://dl.doubtnut.com/l/_awz8kqGYKA9w


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

b = √2a

a = √−2b

b = √−2a

a = ± √2b

3. The points  are vertices of :

A. An acute angled triangle

B. An isosceles triangle

C. An right-angled triangle

D. None of these

Answer: D

Watch Video Solution

(0, 8/3), (1, 3) and (82, 30)

https://dl.doubtnut.com/l/_awz8kqGYKA9w
https://dl.doubtnut.com/l/_2iIGfHAjETpt


4. The straight lines  and 

form a triangle, which is :

A. Isosceles

B. Equilateral

C. Right angled

D. None of these

Answer: A

Watch Video Solution

x + y = 0, 3x + y − 4 = 0 x + 3y − 4 = 0

5. The equations of the sides of a triangle are : 

, then the co-ordinates of

the circumcentre are:

A. (2, 1)

x + y − 5 = 0, x − y + 1 = 0 and y − 1 = 0

https://dl.doubtnut.com/l/_2iIGfHAjETpt
https://dl.doubtnut.com/l/_o8sQB3VpFieh
https://dl.doubtnut.com/l/_nqKEflDxoaM0


B. (1, 2)

C. (2, -2)

D. (1, -2)

Answer: A

Watch Video Solution

6. The slope of the line, which is drawn through the point (1, 2) so that its

point of intersection with the line  is at a distance  is :

A. 

B. 

C. 1

D. 

Answer: C

View Text Solution

x + y + 3 = 0 3√2

1

√3

√3

√3 − 1

2

https://dl.doubtnut.com/l/_nqKEflDxoaM0
https://dl.doubtnut.com/l/_OFKWb49FuOQN


7. The lines  and  form a

rhombus if m is equal to :

A. 

B. 

C. 1

D. 2

Answer: D

Watch Video Solution

y = mx, y + 2x = 0, y = 2x + k y + mx = k

−1

1

2

8. The equations to a pair of opposite sides of a parallelogram are

 and . The equations to its diagonals

are :

A. 

x2 − 5x + 6 = 0 y2 − 6y + 5 = 0

4x + y = 0 and y = 4x − 7

https://dl.doubtnut.com/l/_OFKWb49FuOQN
https://dl.doubtnut.com/l/_NYg7ZWmTTIdQ
https://dl.doubtnut.com/l/_b7D62ioribH5


B. 

C. 

D. None of these

Answer: D

Watch Video Solution

x + 4y = 13 and y = 4x − 7

4x + y = 13 and 4y = x − 7

9. The equation of a straight line passing through the point (-5, 4) and

which cuts off an intercept of  units between the lines 

and  is :

A. 

B. 

C. 

D. 

Answer: C

√2 x + y + 1 = 0

x + y − 1 = 0

x − 2y + 13 = 0

2x − y + 14 = 0

x − y + 9 = 0

x − y + 10 = 0

https://dl.doubtnut.com/l/_b7D62ioribH5
https://dl.doubtnut.com/l/_nTrYtW6tVZDW


Watch Video Solution

10. If  as well as  are in G.P. with the same common

ratio, then the points  :

A. lie on a st. line

B. lie on an ellipse

C. lie on a circle

D. are vertices of a triangle

Answer: A

Watch Video Solution

x1, x2, x3 y1, y2, y3

(x1, y1), (x2, y2) and (x3, y3)

11. Let PQR be a right-angled isosceles triangle right-angled at P(2, 1). If

the equation of the line QR is , then the equation

representing the pair of lines PQ and PR is :

2x + y = 3

https://dl.doubtnut.com/l/_nTrYtW6tVZDW
https://dl.doubtnut.com/l/_JpSWzsZAg34s
https://dl.doubtnut.com/l/_s8xZlJ3qJUlu


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 − 3y2 + 8xy + 20x + 10y + 25 = 0

3x2 − 3y2 + 8xy − 20x − 10y + 25 = 0

3x2 − 3y2 + 8xy + 10x + 15y + 20 = 0

3x2 − 3y2 − 8xy − 10x − 15y − 20 = 0

12. If the quadrilateral formed by the lines

have perpendicular diagonals, then :

A. 

B. 

C. 

D. None of these

ax + by + cz = 0, ax + b' y + c = 0, a' x + by + c' = 0, a' x + b' y + c' =

b2 + c2 = b'2 + c'2

c2 + a2 = c'2 + a'
2

a2 + b2 = a'
2 + b'2

https://dl.doubtnut.com/l/_s8xZlJ3qJUlu
https://dl.doubtnut.com/l/_w8Q2EIyJ1ZBb


Answer: C

Watch Video Solution

13. If two vertices of a triangle are (5, -1) and (-2, 3) and if orthocentre lies

at the origin, then the co-ordinates of third vertex are:

A. (4, 7)

B. (-4, -7)

C. (2, -3)

D. (5, -1)

Answer: B

Watch Video Solution

14. If the points (1, 2) and (3, 4) were to be on the same side of the line

, then :3x − 5y + a = 0

https://dl.doubtnut.com/l/_w8Q2EIyJ1ZBb
https://dl.doubtnut.com/l/_KVADaf9zvYsx
https://dl.doubtnut.com/l/_hhBjg0rWDwtZ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7 < a < 11

a = 7

a = 11

a < 7 or a > 11

15. A straight rod of length 9 units slides with its ends A, B always on the

X and Y-axis respectively . Then the locus of the centroid of  is :

A. 

B. 

C. 

D. 

Answer: B

ΔOAB

x2 + y2 = 3

x2 + y2 = 9

x2 + y2 = 1

x2 + y2 = 81

https://dl.doubtnut.com/l/_hhBjg0rWDwtZ
https://dl.doubtnut.com/l/_DqYQtUvPYkZ0


Watch Video Solution

16. The vertices of a triangle are (6, 0), (0, 6) and (6, 6). The distance

between its circumcentre and centroid is :

A. 

B. 2

C. 

D. 1

Answer: C

Watch Video Solution

2√2

√2

17. A (1, 3) and C(7, 5) are two opposite vertices of a square. The equation

of a side thro' A is :

A. x + 2y − 7 = 0 or 2x − y + 1 = 0

https://dl.doubtnut.com/l/_DqYQtUvPYkZ0
https://dl.doubtnut.com/l/_C88k9EA9DqZ1
https://dl.doubtnut.com/l/_Ug4PV3s3wXoW


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

x − 2y + 5 = 0

2x + y − 5 = 0

18. The diagonals of a parallelogram PQRS are along the line

. Then PQRS must be :

A. rectangle

B. square

C. cyclic quadrilateral

D. rhombus.

Answer: D

Watch Video Solution

x + 3y = 4 and 6x − 2y = 7

https://dl.doubtnut.com/l/_Ug4PV3s3wXoW
https://dl.doubtnut.com/l/_Jr1ysL2NzI2b


19. Let n be the number of points having rational co-ordinates equidistant

from the point  , then:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, √3)

n > 2

n ≤ 2

n ≥ 1

n = 1

20. If the vertices of an equilateral triangle have rational co-ordinates,

then the triangle cannot be :

A. right-angled

B. equilateral

https://dl.doubtnut.com/l/_Jr1ysL2NzI2b
https://dl.doubtnut.com/l/_BWg0jG8UfntN
https://dl.doubtnut.com/l/_MgkmNgPRqhGz


C. right-angled isosceles

D. isosceles.

Answer: B

Watch Video Solution

21. If the lines  cut off equal intercepts on the

transversal , then  are in :

A. A.P.

B. G.P.

C. H.P.

D. None of these

Answer: C

Watch Video Solution

y = mrx, r = 1, 2, 3

x + y = 1 1 + m1, 1 + m2, 1 + m3

https://dl.doubtnut.com/l/_MgkmNgPRqhGz
https://dl.doubtnut.com/l/_NbgYF9ySL9NV
https://dl.doubtnut.com/l/_N9V25ALpyUNB


22. If , then the point  :

A. may lie on the line 

B. necessarily lies in the acute angle between the lines y = 3x and 3y = x

C. necessarily lies in the obtuse angle between the lines y = 3x and 3y =

x

D. 

Answer: B

Watch Video Solution

a =
tan θ

tan 3θ
P(a, a2)

3y = x or y = 3x

a ∈ ( , 3)
1

3

23. If two sides of a triangle are represented by : 

, then its orthocentre lies on the

line :

A. 

B. 

2x − 3y + 4 = 0 and 3x + 2y − 3 = 0

x − y + = 0
8

15

4x + 3y + = 0
5

13

https://dl.doubtnut.com/l/_N9V25ALpyUNB
https://dl.doubtnut.com/l/_YNbsda7RT2ID


C. 

D. 

Answer: C

Watch Video Solution

9x − y + = 0
9

13

3x − 2y + 1 = 0

24. The distance of the point (1, 2) from the line  measured

parallel to the line  is :

A. 

B. 

C. 10

D. 

Answer: B

Watch Video Solution

x + y = 0

3x − y = 2

3√2

8

3√10

4

5√5

https://dl.doubtnut.com/l/_YNbsda7RT2ID
https://dl.doubtnut.com/l/_fxVyLydpOOPC
https://dl.doubtnut.com/l/_umqa06QwOcYn


25. If a, b, c are the pth, qth and rth terms of an H.P., then the lines

 :

A. are concurrent

B. form a triangle

C. are parallel

D. None of these

Answer: C

Watch Video Solution

bcx + py + 1 = 0, cax + qy + 1 = 0 and abx + ry + 1 = 0

26. If  and the variable line  is drawn through

the given point , then the least area of the triangle formed by

this line and the co-ordinate axes is :

A. 

B. 

αβ > 0, ab > 0 , = 1
x

a

y

b

P (α, β)

2αβ

3αβ

https://dl.doubtnut.com/l/_umqa06QwOcYn
https://dl.doubtnut.com/l/_NlN983x8CvtM


C. 

D. None of these

Answer: A

Watch Video Solution

αβ

27. A ray of light coming from the point (1, 2) is reflected at a point A on

the x-axis and then passes through the point (5, 3). The co-ordinates of

the point A are :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

( , 0)
13

5

( , 0)
5

13

( − 7, 0)

https://dl.doubtnut.com/l/_NlN983x8CvtM
https://dl.doubtnut.com/l/_tKb9eVhYhTmR


28. If two vertices of an equilateral triangle have integral co-ordinates,

then the third vertex will have :

A. integral co-ordinates

B. co-ordinates, which are rational

C. at least one co-ordinate irrational

D. co-ordinates, which are irrational.

Answer: C

Watch Video Solution

29. Let A(1, 2) and B(3, 4) be two points. Let C(x, y) be a point such that

. If ar , then the

maximum number of positions of C in xy-plane is :

A. 2

(x − 1)(x − 3) + (y − 2)(y − 4) = 0 (ΔABC) = 1

https://dl.doubtnut.com/l/_tKb9eVhYhTmR
https://dl.doubtnut.com/l/_QVW603Uow9Pk
https://dl.doubtnut.com/l/_dZHRT3HhNBDo


B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

30. If p, p' be the lengths of perpendicular from (0, 0) on the lines: 

 respectively,

then  equals:

A. 

B. 

C. 

D. .

Answer: B

x secθ + ycosecθ = 2a and x cos θ + y sin θ = a cos 2θ

( + )
2

p

p'

p'

p

4 cos2 4θ

4cosec24θ

4 sin2 4θ

4 cot2 4θ

https://dl.doubtnut.com/l/_dZHRT3HhNBDo
https://dl.doubtnut.com/l/_ijFsXphtUB3X


View Text Solution

31. The points P(2,3) , Q(3, 5), R(7, 7) and S(4, 5) are such that:

A. P, Q, R and S are collinear

B. PQRS is a parallelogram

C. S lies on the boundary of the triangle PQR

D. S lies inside the triangle PQR

Answer: D

Watch Video Solution

32. If P is a point (x, y) on the line  such that P and Q(3, 4) are

on opposite sides of the line , then :

A. 

B. 

y = − 3x

3x − 4y = 8

x > , y <
8

5

−8

15

x > , y < −
8

15

8

5

https://dl.doubtnut.com/l/_ijFsXphtUB3X
https://dl.doubtnut.com/l/_lIDxyJoxTzao
https://dl.doubtnut.com/l/_VQjEnfBYSM5f


C. 

D. None of these

Answer: B

Watch Video Solution

x = , y =
8

15

−8

5

33. Let A(-1, 0), B(0, 0) and  be three points. Then the bisector

of  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C(3, 3√3)

∠ABC

x + √3y = 0

x + y = 0
√3

2

√3x + y = 0

x + y = 0
√3

2

https://dl.doubtnut.com/l/_VQjEnfBYSM5f
https://dl.doubtnut.com/l/_DhUGSbOga1IL
https://dl.doubtnut.com/l/_oxBeHNX2b9zY


34. The position of a moving point in XY-plane at time t is given by

, where  are constants. The locus of

the moving point is :

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

(u cosα, t, u sinα, t − gt2)
1

2
u, α, g

35. If the line y = mx meets the lines  and 

at the same point, then m equals :

A. 1

B. 

x + 2y − 1 = 0 2x − y + 3 = 0

−1

https://dl.doubtnut.com/l/_oxBeHNX2b9zY
https://dl.doubtnut.com/l/_aWIEpewPrJTi


C. 2

D. 

Answer: B

Watch Video Solution

−2

36. Co-ordinates of the vertices of a triangle are (2, 0), (6, 0) and (1, 5). The

distance between circumcentre and orthocentre is :

A. 4

B. 5

C. 6

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_aWIEpewPrJTi
https://dl.doubtnut.com/l/_VOz2Enat9WgJ
https://dl.doubtnut.com/l/_UicV7FYqm503


37. The equation of base of an equilateral triangle is  and

vertex is (2, -1). Then the length of the side of the triangle equals:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 2

√
1

3

√3

√
2

3

√
3

2

38. The triangle formed by the tangent to the curve 

at the point (1, 1) and the co-ordinate axes, lies in the first quadrant. If its

area is 2, then the value of b is :

A. 

B. 3

f(x) = x2 + bx − b

−1

https://dl.doubtnut.com/l/_UicV7FYqm503
https://dl.doubtnut.com/l/_QJEXNW09xpY6


C. 

D. 1

Answer: C

Watch Video Solution

−3

39. A square of side a lies above the x-axis and has one vertex at the

origin. The side passing through the origin makes an angle

 with the positive direction of x-axis. The equation of its

diagonal not passing through the origin is :

A. 

B. 

C. 

D. .

Answer: C

W t h Vid S l ti

α(0 < α < )
π

4

y(cosα + sinα) + x(sinα − cosα) = a

y(cosα + sinα) + x(sinα + cosα) = a

y(cosα + sinα) + x(cosα − sinα) = a

y(cosα − sinα) − x(sinα − cosα) = a

https://dl.doubtnut.com/l/_QJEXNW09xpY6
https://dl.doubtnut.com/l/_qcNpCwhx8cKH


Watch Video Solution

40. If the equation of the locus of a point equidistant from the points

 and  is : 


, then c =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(a1, b1) (a2, b2)

(a1 − a2)x + (b1 − b2)y + c = 0

a2
1 − a2

2 + b2
1 − b2

2

(a2
1 + a2

2 + b2
1 + b2

2)
1

2

√a2
1 + b2

1 − a2
2 − b2

2

(a2
2 + b2

2 − a2
1 − b2

1)
1

2

41. Locus of centroid of the triangle whose vertices are

 and (1, 0), where t is a parameter, is :

A. 

(a cos t, a sin t), (b sin t, − b cos t)

(3x + 1)2 + (3y)2 = a2 − b2

https://dl.doubtnut.com/l/_qcNpCwhx8cKH
https://dl.doubtnut.com/l/_63Nhf84ypCvL
https://dl.doubtnut.com/l/_RsmmM3KkhIXx


B. 

C. 

D. 

Answer: C

Watch Video Solution

(3x − 1)2 + (3y)2 = a2 − b2

(3x − 1)2 + (3y)2 = a2 + b2

(3x + 1)2 + (3y)2 = a2 + b2

42. Triangle is formed by the co-ordinates (0, 0), (0, 21) and (21, 0). Find

the number of integral co-ordinates strictly inside the triangle (integral

co-ordinates has both x and y) :

A. 190

B. 105

C. 231

D. 205

Answer: A

https://dl.doubtnut.com/l/_RsmmM3KkhIXx
https://dl.doubtnut.com/l/_di3zLTZUOdKX


Watch Video Solution

43. If non-zero numbers a, b, c are in H.P., then the straight line

 always passes through a fixed point. That point is :

A. (-1, -2)

B. (-1, 2)

C. 

D. (1, -2)

Answer: D

Watch Video Solution

+ + = 0
x

a

y

b

1

c

(1, − )
1

2

44. If a vertex of a triangle is (1, 1) and the mid-points of two sides

through this vertex are (-1, 2) and (3, 2), then the centroid of the triangle

is :

https://dl.doubtnut.com/l/_di3zLTZUOdKX
https://dl.doubtnut.com/l/_OGYw2kZCuLYP
https://dl.doubtnut.com/l/_oNHfD1uy5IxA


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( , )
−1

3
7
3

( − 1, )
7
3

( , )
1

3
7
3

(1, )
7
3

45. A straight line through the point A(3, 4) is such that its intercept

between the axes is bisected at A. Its equation is :

A. 

B. 

C. 

D. 

Answer: C

x + y = 7

3x − 4y + 7 = 0

4x + 3y = 24

3x + 4y = 25

https://dl.doubtnut.com/l/_oNHfD1uy5IxA
https://dl.doubtnut.com/l/_FNe6qUGuVRWa


Watch Video Solution

46. If  falls inside the angle made by the lines 

, then a belongs to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a, a2)

y = , x > 0 and y = 3x, x > 0
x

2

(0, )
1

2

(3, ∞)

( , 3)
1

2

( − 3, − )
1

2

47. The perpendicular bisector of the line segment joining P(1, 4) and Q(k,

3) has y-intercept -4. 

Then a possible value of k is :

https://dl.doubtnut.com/l/_FNe6qUGuVRWa
https://dl.doubtnut.com/l/_RmlmWGJtzSzm
https://dl.doubtnut.com/l/_BBCRw1CNic1I


A. 

B. 1

C. 2

D. 

Answer: A

Watch Video Solution

−4

−2

48. The co-ordinates of a point on the line  such that the point

is at equal distances from the lines  are :

A. (0, 3)

B. (3, 0)

C. (-3, 0)

D. (0, -3)

Answer: A

x + y = 3

|x| = |y|

https://dl.doubtnut.com/l/_BBCRw1CNic1I
https://dl.doubtnut.com/l/_rms5p9b5ls4m


Watch Video Solution

49. Consider three points

, where . Then:

A. P lies on the line segment RQ

B. Q lies on the line segment PR

C. R lies on the line segment QP

D. P, Q, R are non-collinear.

Answer: D

Watch Video Solution

P ≡ ( − sin(β − α), − cos β), Q ≡ (cos(β − α), sinβ) and R ≡ (cos β −

0 < α, β, θ <
π

4

50. The lines

 are

perpendicular to a common line for :

p(p2 + 1)x − y + q = 0 and (p2 + 1)
2
x + (p2 + 1)y + 2q = 0

https://dl.doubtnut.com/l/_rms5p9b5ls4m
https://dl.doubtnut.com/l/_Xb3h3LSjivUP
https://dl.doubtnut.com/l/_cSJeqcvqp87P
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A. no value of p

B. exactly one value of p

C. exactly two values of p

D. more than two values of p.

Answer: B

Watch Video Solution

1. The line L given by  passes through the point (13, 32). The

line K is parallel to L and has the equation . Then the

distance between L and K is :

A. 

B. 

C. 

+ = 1
x

5

y

b

+ = 1
x

c

y

3

23

√15

√17

17

√15

https://dl.doubtnut.com/l/_cSJeqcvqp87P
https://dl.doubtnut.com/l/_qQpmr2sq4n8Q


D. 

Answer: D

Watch Video Solution

23

√17

2. A straight line L through the point (3, -2) is inclined at an angle  to

the line . If L also intersects the x-axis, then the equation of

L is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

60∘

√3x + y = 1

y + √3x + 2 − 3√3 = 0

y − √3x + 2 + 3√3 = 0

√3y − x + 3 + 2√3 = 0

√3y + x − 3 + 2√3 = 0

https://dl.doubtnut.com/l/_qQpmr2sq4n8Q
https://dl.doubtnut.com/l/_shYFg8qWXpJP
https://dl.doubtnut.com/l/_hMWXwVW4tuPs


3. The lines  intersect each other in the first

quadrant. Then the set of all possible values of a is the interval :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y = |a| and ax − y = 1

(0, ∞)

[1, ∞)

( − 1, ∞)

( − 1, 1]

4. If A(2, -3) and B(-2, 1) are two vertices of a triangle and third vertex

moves on the line , then the locus of the centroid of the

triangle is :

A. 

B. 

2x + 3y = 9

x − y = 1

2x + 3y = 1

https://dl.doubtnut.com/l/_hMWXwVW4tuPs
https://dl.doubtnut.com/l/_W8VVq4K07sHY


C. 

D. 

Answer: B

Watch Video Solution

2x + 3y = 3

2x − 3y = 1

5. If the line  passes through the point, which divides the line

segment joining the points (1, 1) and (2, 4) in the ratio , then k equals:

A. 

B. 5

C. 6

D. 

Answer: C

Watch Video Solution

2x + y = k

3: 2

29

5

11

5

https://dl.doubtnut.com/l/_W8VVq4K07sHY
https://dl.doubtnut.com/l/_8tThNarixhCm
https://dl.doubtnut.com/l/_fJ8Xs94NKloD


6. A line is drawn through the point (1, 2) to meet the co-ordinate axes at

P and Q such that it forms a triangle OPQ, where O is the origin. If the

area of the triangle OPQ is least, then the slope of the line PQ is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−
1

4

−4

−2

−
1

2

7. A ray of light along  gets reflected upon reaching x-axis,

the equation of the reflected ray is :

A. 

B. 

x + √3y = √3

√3y = x − √3

y = √3x − √3

https://dl.doubtnut.com/l/_fJ8Xs94NKloD
https://dl.doubtnut.com/l/_3A3Qozx7lQeB


C. 

D. 

Answer: A

Watch Video Solution

√3y = x − 1

y = x + √3

8. The x-co-ordinate of the incentre of the triangle that has the co-

ordinates of mid-points of its sides as (0, 1), (1, 1) and (1, 0) is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 − √2

1 + √2

1 − √2

2 + √2

https://dl.doubtnut.com/l/_3A3Qozx7lQeB
https://dl.doubtnut.com/l/_hVo94hdLbQK0
https://dl.doubtnut.com/l/_I7jCaw0Ptfje


9. For , the distance between (1, 1) and the point of

intersection of the lines: 

 


is less then . Then :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a > b > c > 0

ax + by + c = 0 and bx + ay + c = 0

2√2

a + b − c > 0

a − b + c < 0

a − b + c > 0

a + b − c < 0

10. Let PS be the median of the triangle with vertices P(2, 2), Q(6, -1) and

R(7, 3). The equation of the line passing through (1, -1) and parallel to PS is

:

A. 2x + 9y + 7 = 0

https://dl.doubtnut.com/l/_I7jCaw0Ptfje
https://dl.doubtnut.com/l/_gq6aLFZG11UC


B. 

C. 

D. 

Answer: A

Watch Video Solution

4x + 7y + 3 = 0

2x − 9y − 11 = 0

4x − 7y − 11 = 0

11. Let a, b, c and d be non-zero numbers. If the point of intersection of

the lines  and  lies in the fourth

quadrant is equidistant from the two axes, then :

A. 

B. 

C. 

D. 

Answer: B

4ax + 2ay + c = 0 5bx + 2by + d = 0

2bc + 3ad = 0

3bc − 2ad = 0

3bc + 2ad = 0

2bc − 3ad = 0

https://dl.doubtnut.com/l/_gq6aLFZG11UC
https://dl.doubtnut.com/l/_ZWHp89mt6YSQ
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Watch Video Solution

12. The number of points, having both co-ordinates as integers, that lie in

the interior of the triangle with vertices (0, 0), (0, 41) and (41, 0), is :

A. 901

B. 861

C. 820

D. 780

Answer: D

Watch Video Solution

1. The line joining A(2, -7) and B(6, 5) is divided into 4 equal parts by the

points P, Q and R such that AQ = RP = QB. The mid-point of PR is :

https://dl.doubtnut.com/l/_ZWHp89mt6YSQ
https://dl.doubtnut.com/l/_zctsSiTbzsBA
https://dl.doubtnut.com/l/_joqnk70JZumF


A. (8, -2)

B. (4, -1)

C. (-8, 1)

D. (4, 12)

Answer: B

Watch Video Solution

2. Let  be three points.

The equation of the bisector of the angle PQR is :

A. 

B. 

C. 

D. 

Answer: C

P ≡ ( − 1, Q), Q ≡ (0, 0) and R ≡ (3, 3√3)

√3x + y = 0

x + √3y = 0

√3x − y = 0

x − √3y = 0

https://dl.doubtnut.com/l/_joqnk70JZumF
https://dl.doubtnut.com/l/_VMbIrOdMhicf


Watch Video Solution

3. If the straight line  always passes through (1, -2), then

a, b, c are in:

A. H.P.

B. A.P.

C. G.P.

D. None of these

Answer: B

Watch Video Solution

ax + by + c = 0

4. A straight line through P(1, 2) is such that the intercept between the

axes is bisected at P. Then the equation of the straight line is :

A. x + y = 1

https://dl.doubtnut.com/l/_VMbIrOdMhicf
https://dl.doubtnut.com/l/_h3wFOet4M0eG
https://dl.doubtnut.com/l/_xpzJk1P7BvnU


B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y = 3

x + 2y = 5

2x + y = 4

5. The minimum area of the triangle formed by the variable line

 and co-ordinate axes is :

A. 144

B. 

C. 

D. 12

Answer: D

Watch Video Solution

3 cos θx + 4 sin θy = 12

25

2

49
4

https://dl.doubtnut.com/l/_xpzJk1P7BvnU
https://dl.doubtnut.com/l/_s3JOW93nydlV


6. A straight line passes through the points (5, 0) and (0, 3). The length of

perpendicular from the point (4, 4) on the line is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√17
2

√
17
2

15

√34

17
2

7. If the line through  is inclined at an angle  with the

positive direction of the x-axis, then the co-ordinates of the two points on

opposite sides of A at a distance  are :

A. (7, 2), (1, 8)

A ≡ (4, − 5) 45∘

3√2

https://dl.doubtnut.com/l/_s3JOW93nydlV
https://dl.doubtnut.com/l/_17CQfIKvXPPI
https://dl.doubtnut.com/l/_UoHcRI43Ox8A


B. (7, 2), (1, -8)

C. (7, -2), (1, -8)

D. (7, 2), (-1, 8)

Answer: C

Watch Video Solution

8. A line passes through (2,2) and is perpendicular to the line 

Its y - intercept is _______

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

3x + y = 3

1

3

2

3

4
3

https://dl.doubtnut.com/l/_UoHcRI43Ox8A
https://dl.doubtnut.com/l/_WdCFUHPwtTnz


https://dl.doubtnut.com/l/_WdCFUHPwtTnz

